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N BIAEL2ANRA

i AU 22 23

el EBIIZ FIMR 2 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
EEVEELIPUCPS 6,905,721 1,927,719 4,978,002
Dl 8,648
Al 6,897,073
M E 22 29 1,466,778 1,514,978 N 48,200
Jl 8,648
Al 1,458,130
HIl=Z2 |IMH 1,466,778 1,514,978 AN 48,200
J| 8,648
Al 1,458,130
& & 2l 1,043,737 997,225 46,512
101 @1 21| 100,818 91,321 9,497
04 JI2ZtHI22XNHEE 100,818 91,321 9,497
OLAIASEOI2A 100,818
— M E FOUAARI 2 82,719
ol el 46,8203 *4H x25 x 12 56,184
=54 46,8203 *4H x52! 9,739
2HAH| 2,000& x4 62 x23| 992
MIHEE 2 56, 184,000& *2.508% 1,410
nagsas 56, 184,000& *1.5% 843
ALE2E2 56, 184,000& *2.95% 1,658
=013 56, 184,000& *4 . 5% 2,529
ZAIRLA EIAZ 46,8203 x4 252 x2 & 9,364
— SZALEHLARL =222 11,232
oLl 62,4003 *3H x 152 x4 3] 11,232
— MY E YA 2 6,867
ol 40,7703 x2H x62 5,056
FETY 40,7703 x2Y 9 734
2HAH| 2,000& x2H %62 x23| 496
cAHEE 2 5,056, 000& *2.508% 127
nagsas 5,056,000 *1.5% 76
A28 5,056,000& *2.95% 150
=013 5,056, 000& *4.5% 228
201 LEt2 A Y| 548,156 563, 141 AN 14,985
01 At 2t 2l Yl 42,367 56,807 AN 14,440
Odetg2H| 37,082
—d2XNsHEs 2tz Ex 2
80,0003 *1CH *x63] 480
— 0l =Dl Xl 150, 000& x 1 CH *23] 300
—HEANE 3L S 1,200,000& 63 7,200
— Xlote HIIZEA =2 (2I118])
600,000 *30H A~ x4 3| 7,200
—AMEE HII2 S28AM =2
200,000& *123] 2,400
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N BIAEL2ANRA

i AU 22 23

S HIIZ2 AN (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—He =84 ugse
1,360 & *4Lx8H*952 » 1JH A x90% 3,721
2 ZOLAREL LY
1,360 *4L*8H*252 » 10l 2 x401 2 «90% 3,917
OAl& &8l Xl 38,880
—JIAANE |X 22
1,800,000& *12& x90% 19,440
— dIIAME |X 22l
1,800,000& *12& x90% 19,440
OXt& & Byl 204,192
—HEEEH SX2e2ltl
6,000,000& *12& *x90% 64,800
—HEEH SBUH(EZX 2 901)
1,760& »12L*4H»300L = 10CH x55% 139,392
OZ3F2E a2z & 2zl 16,300
— XN HEIA ERBAY)
7,000 *25% 43|« 123 8,400
— AN ANE 4Z5 7Y 50,0003 259 «62] 7,500
—H&E &H 2=YEH 100,000& x4 3] 400
202 oddl 4,441 4,441 0
01 = LH o4 1l 4,441 4,441 0
O=&Z& A= 52,6003 «2H 122 1,263
OFIMIHEZ HS&RX AS 264,800 *3H »43] 3,178
206 M= Hl 161,322 253,322 A 92,000
01 = Hl 161,322 253,322 292,000
ONEE Yoss A2 (MER)
38,500& 14 =300 11,550
ONgd dFHMelAdZ(E5HM) 7
3,250& x10L*300 9,750
OJIA I8 77 1,872
—Z2E% 2,300& 1204 =63 1,656
—22A0tSE I FY)
3,600& 5kgx12& 216
OJHANE SMZ HUE 1,000,000 * 1Al 1,000
OJIAH=el8 NM2L (HHH )
1,000,000& 14 1,000
O=2EE EAMTY 10,000& =13,000m 130,000
OXIIXM A2 (AH0E S )
00,000& »12& 2,400
Os&) Y2 & e 2= 2 MaHX
12,500& 300 3,750
401 A& HIZ 201 I 50,000 30,000 20,000
01 A& tI 50,000 30,000 20,000
OUEX ANE(HE= U2) BA3AM
50,000,000& =14 50,000




2N
X ZH -
L= B

el

AL ZCAIR A
Adiigd 22 29

HolS I8

A - ER(EN) - AR - B of & o4 SSa HIDZ2
405 At&tE =HI 179,000 5,000 174,000
01 ML ESFHSH 179,000 5,000 174,000

OstE & (tHA) 19,000, 0002 *1CH 19,000
O=ADII(HA) 160,000,000 *1CH 160,000

AetEd 414,393 517,753 A 103,360
201 fet2E | 89,654 83,014 6,640
01 At 22l bl 8,880 7,980 900

Oget=2ZH| 8,880
—H+=ZA==2 4,000
gE 200,000& =123l 2,400
o = 200,000& *43| 800
2 == Rl == 200,000& 43| 800
— EHl d23A =2 110,000& »43] 440
~XRSAE FIBM 245
2,000,000& «13] 2,000
~ENDRN HASE FYU(HBL S)
2,000,000& * 14 2,000
—JIEt HHES FHUOIEMAHE 2l 8)
440,0002 * 14! 440
02 324t 80,774 75,034 5,740
0332 % MA 914
—XgHALEY Y SSYEER 497
LYEEH(BE) 497,000 1CH* 12 497
—XEEAMN Y FIEMNE 117
LYEEH(BE) 77,000 x1CH* 12l 7
220 40,000 x1CH*13] 40
—#FNERES 150,000& =23 300
OXt& & gty| 12,360
- =50 6,600
SE(58) 1,760 *10L+1502! ~ 1CH 2,640
ZH(2=4) 1,760 *15L+1502! = 1CH 3,960
— XEdu € |4l 5,760
L= (5E) 2,400,000 *1CH «90% 2,160
ZHl(2<0) 300,000& *12& 3,600
OAlZ &S Xlbl 67,500
—SASFHIIE W |A 224
7,000,000 +20H A 14,000
—OlMEEATR SA 22/
5,000,000 201 A 10,000
— ElHl W eIl sX2eldl 10,000,000 * 14! 10,000
—25-F=ZX ol6 & & S22/l
500,000& = 1691 £ 8,000
—2HEZ |X 228l 500,000 «50CH *10% 2,500
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SN BHALBNRA
HE: MY 22l 29

Sl HolE YA

SA - ZE-B(EA) - NRAY - B S il &t o il
—&dEr LI FAA2H|
1,000,000 » 104 2 1,000
— SH=2Hx |X2clbl
1,000,000 » 10 2 1,000
—SH=HMal+= HAHAX K22
5,000,000 » 14! 5,000
—SH=+ =& X |A2c4
3,000,000& =14 A& 3,000
—SH=2Z ZIx A2l
5,000,000 » 14! 5,000
—EFHANE A2 1,500, 000 *2CH 3,000
—SH=HMels OS2 AHNLEHA (D213
00m, bH 2 100mm) 5,000,000& =13l 5,000
202 odl 1,903 1,903
01 = LH o4 1l 1,903 1,903
OH=& A2 2 52,6003 «1H 123 632
ElHl d2& A2 2 52,600 x 1 »43] 211
OXEstAE A&R A 264,8003 *2H +23] 1,060
206 T 2 bl 222,836 222,836
01 =8l 222,836 222,836
O8aSH= ¥ &&=+ XMeldZ 2Ll 70,896
— O =22 [l 269,000& *20kg* 12 *90% 58,104
— M ELSH 25,0003 «7&*12& 2,100
— 23K 59,4003 158128 10,692
O (+2x3) 45,0003 =180 m" 12 *90% 87,480
OJIAIEE "7 6,480
—H7gd 2,300& *200L*12& 5,520
—Jloeg 2,500 *20Lx12& 600
- Fela 3,000& «10L+12& 360
OJIA =cl& TP 46,180
— 28 ZEHH 10,000, 000& * 14 10,000
—gdss=X FLUEZ 7Y
2,000,000 *2H 4,000
—sgaed 1,200,000& =44 4,800
—A3FEIIH 150,000& =44 600
—ESZ R4 600,000& »4 K 2,400
—SgEE 250,000 =44 1,000
—ZdLolceE () 200,000& =44 800
—ZdoleeE (L) 150, 000 & *4 K 600
- 7s= 2,000,000 =44 8,000
— I 500, 0002 =4 K 2,000
— AIet3l 2,000,000 =44 8,000
— Hio & (uc210 21 8%) 1,500,000& 14 1,500




N BIAEL2ANRA

i AU 22 23

Sl HolE YA

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— "WE(C-872 75) 1,000,000 * 14 1,000
—sgdsA 500, 000& *14] 500
— Y E =HA 500,000& =14 500
— A 8,000 x5S x12& 480
OJIHAE SHE HE 1,000,000& x 14! 1,000
Ox=zHIZT L 2HFY 10,800
— QH+E2 =T I (PDN750MA)
400,000 =6CH 2,400
— QH=+8 =TI (PON752!)
350, 000& *6CH 2,100
— 2 H (20HP) 1,200,000& =3CH 3,600
— 2E (10HP) 600, 000& =3CH 1,800
— 2 H(3HP) 300, 000& =3CH 900
401 Al HI L 2 0HHI 100,000 210,000 A 110,000
01 A& HI 100,000 210,000 A 110,000
OSAEXNASAE WA 100,000
—2SX 2¢ U WA 30,000,000& 14! 30,000
—2axX & S g SAMOI w A
5,000, 000& x4 20,000
—ZJ|xX S2J WA 20,000, 000& *14] 20,000
— gl dgg EEYU
20,000, 000& * 14! 20,000
—ZJ| X AMIIHf&EBE WX 10,000, 000& =14 10,000
SFEAFHISE XA 8,648 0 8,648
8,648
306 9= 8,648 0 8,648
8,648
01 &9 = 8,648 0 8,648
OgdA FHIY SIXNE AIY 53
8,648,000& 13| 8,648
8,648
SEUHUHRXNALAE 2229 5,021,521 0 5,021,521
SEHAWHNUKNMEH2A 5,021,521 0 5,021,521
SHHWHANEH2H 5,021,521 0 5,021,521
201 LEr2 Y| 4,886 0 4,886
01 AFR2t2l bl 4,406 0 4,406
o294 700
—otx=sHAMHEAIE SUEIIAJAG FHA
= 700,000& =14 700
Ogdet+=gH| 3,706
—2#ZUHUXNEEH AIRE dOMEZSEHEN
2 237,000 *1CH x23] 474




FA: BIAEZEARA
M AU XNMEH 2223
©el: BFHUKMEHEY (S &2)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—SZ0UHXHEH AFRE SAJ, EYH 2¥
480,000 +10H »22] 960
—SZ0UHXHEH AIRE HAIECEH 7Y
110,000 101 23] 220
— 23U UXNMEH EAESE 7
150,000& 14! 150
—SZ0UHXHE H2U JHESX 2
80,000& 104 »6 2 480
—SFUUHXNLEH AH20 coIMEZSE SXA
22| 237,000 «1CH »6 2 1,422
02 2324l 480 0 480
Oz3&22= & HA 480
—SZ0UXAYH HZUH 88 UHY MEZ
30,000& 128 360
—SZUUXNEH SELS AIER
10,000 128 120
202 O4Hl 2,119 0 2,119
01 S LHOIYI 2,119 0 2,119
OZUHURXNEE 2823 AldAS 2 3 oF
A 264,800 x2H x43] 2,119
207 & RO ] 12,000 0 12,000
01 A7 39l 12,000 0 12,000
OdEHIISHXMANE SZ2c/HE AFEH
12,000, 0003 * 1Al 12,000
307 21201 A 4,992,834 0 4,992,834
05 RIZt2IEt = 4,992,834 0 4,992,834
Odt==A XMl AlE BI2He &I
2,240,000,000& 14 2,240,000
Oot=Ed X MelAlE 2I2t2(EH] 0I1XZ (201
34) 1,400,000,000& 14 1,400,000
OdeHIISHXMANE 22 2UAAE 2
I 2,705,668,0002 <61 & /1200 & 1,352,834
405 TtatF S 9,682 0 9,682
01 et EFFHSHI 9,682 0 9,682
OZUUXNMEH AARE SAI ¢
5,000,000& » 14! 5,000
OZANUXHEH AIRE HA(SHE ) 2L
145,000& »3EA 435
OFUUHRXNEE AIRE 2AX ¢
99,000& *3EA 297
Ot UUHRXEE ARE FAX &
350,000& = 1EA 350
OZNUXEH AIRE ZHII(HO0IH™) 2
e 500,000& = 1EA 500
OZUUXMEH AAEE 2HME 2
170,000& = 10EA 1,700
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FA: BIAEZEARA
M BZNUXMH 222
&S SFUHUXNE2S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O UUHXEE 328 X & 2AX 2
700,000 » 14! 700
OgZuUHXMH TV 700,000& = 1CH 700
MEPES(BHZANL2AARL) 312,739 315,074 A2,335
WEAHANXE (AL 22AR L) 312,739 315,074 N2,335
FHOlE2 FUXNAII3 =24 312,739 315,074 A 2,335
702 JI3HEES 312,739 315,074 N2,335
(RPIE=RSE-—3= 312,739 315,074 A 2,335
O ANE22ARA FHOIE FUXAIIS 312,739
~STNEE DY
2,241,550,000& »10% 224,155
— 5585 AMSA 149,660,000& *10% 14,966
— NYE HII2 wYLsE
197,560, 000& *10% 19,756
—sAg HI2 wYLsLE
225,690,000& »10% 22,569
—HEHIIE === 312,930,000 *10% 31,293
HY AT (BHE AL ZLAR L) 104,683 97,667 7,016
OlAHY (P AL HCIAIRA) 40,130 40,130 0
OlA2YY(SHZ AL 2IAMRL) 40,130 40,130 0
101 124 dl 40,130 40,130 0
01 2= 40,130 40,130 0
O (LEHaR)
68, 1323 * 19 «62 2 *50% 40,130
Jl2 Bl (BFFAIE 2L AR A) 64,553 57,537 7,016
Jl2dul (P AE22ARA) 64,553 57,537 7,016
201 ¢er24l 18,997 14,209 4,788
01 At 22l 18,997 14,209 4,788
O el 9,421
—Jl2 AR ESHI 100,000& »19H 1,900
— T2y szl 237,000 »4CH »32] 2,844
—SM SXU22H(EH 72 &)
350,000& = 1CH 43| 1,400
— A2 FA22 110,000 «1CH »23] 220
—SAMSI 7Y 20,0003 x6% A+ 123 1,440
— AR RFH B
122,200& x 10 & %123 1,467
—Jl2 E2E3H| 150, 000& 18] 150
O= &l 9,576
— MR S204A
7,000 <198 x62 « 122 9,576




2N

A& 2tel
Ho: WHSYYH (HIALBRANRL)
CH2: D23 HI (BB AL 22IAIRA) CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 o4dl 41,776 39,128 2,648
01 = LH o4 1l 41,776 39,128 2,648
OZXA R=A 2ANWHl 264,800 x4X x53] 5,296
OXFAALET YO bl
20,0003 x19H »83| x12& 36,480
203 YR =&t 3,780 4,200 A 420
04 EA2IYRFLH| 3,780 4,200 A 420
OstF AL 22 AIR A 350,000& = 12& x90% 3,780




